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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. (a) Toluene reacts with chlorine under different 

conditions to give different products. Explain 

with reaction. 

VkWyqbZu fofHkUu voLFkkvksa eas Dyksjhu ls la;ksx djus 

ij fofHkUu mRikn cukrs gSaA vfHkfØ;kvksa }kjk 

le>kb;sA  

(b) Explain the 2
N

S  mechanism in alkyl halides.  

,fYdy gSykbM esa 2
N

S dh fØ;kfof/k dks le>kb,A  

2. (a) How resonance reduces the basicity and increases 

the acidity of the molecule ? Explain with suitable 

example.  

fdl izdkj vuqukn csfldrk dks ?kVkrk gS o vEyh;rk 

dks c<+krk gS \ leqfpr mnkgj.k nsdj le>kb,A  

(b) What are carbocations ? Arrange the following 

carbocations in order of increasing stability : 

+
6 5 2

C H C H ,  +
6 5 2

(C H ) C H ,  +
3 3

(C H ) C ,

+
3 2

(C H ) C H  

dkcksZdSVk;u D;k gSa \ fuEufyf[kr dkcksZdSVk;u dks 

muds c<+rs LFkkf;Ro Øe esa O;ofLFkr dhft, % 

+
6 5 2

C H C H ,  +
6 5 2

(C H ) C H ,  +
3 3

(C H ) C ,

+
3 2

(C H ) C H  
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3. (a) Explain D-L and R-S system of determining 

configuration of optically active compounds. 

Give examples.  

izdk’k lfØ; ;kSfxdksa ds foU;kl Kkr djus dh D-L 

o R-S i)fr dh O;k[;k dhft,A mnkgj.k nsdj vius 

mŸkj dks Li”V dhft,A  

(b) Discuss the mechanism of 1, 2 and 1, 4 addition 

of HBr to buta-1, 3 diene with the relative yield 

of the two products.  

1, 2 o 1, 4 ;ksx vfHkfØ;kvksa dh fØ;kfof/k C;wVk&1, 3 

Mkbu ij HBr dh enn dks le>kb, o cuus okys 

nksuksa mRiknksa dh lkis{k ek=k ds ckjs esa le>kb,A  

4. (a) Explain the mechanism of free radical 

halogenations of alkanes taking chlorination of 

methane as an example.  

,Ydsu ds gSyksftuhdj.k dh eqDr ewyd fØ;kfof/k dks 

ehFksu dh Dyksjhuhdj.k fØ;k }kjk le>kb,A  

(b) Explain the mechanism of Friedel-Craft‘s 

alkylation and acylation both in benzene ring.   

ÝhMy&Øk¶V~l ,Ydhdj.k o ,lk;yhdj.k dks cSathu 

pØ ls gksus okyh fØ;kfof/k le>kb,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by hydrogen bonding ? Discuss 

intermolecular and intramolecular hydrogen bonding.  

gkbMªkstu cU/k ls vki D;k le>rs gSa \ vUrj v.kqd o 

vUrjk v.kqd gkbMªkstu cU/k ds ckjs eas foLrkj ls o.kZu 

dhft,A  

2. Arrange the following in decreasing order of their 

acidity and explain : 

3 3
C H C H ,  H C C H ,  

2 2
C H C H   

fuEufyf[kr dk ?kVrs vEyh; Øe esa O;ofLFkr dhft, ,oa 

,slk djus dks dkj.k crkb, % 

3 3
C H C H ,  H C C H ,  

2 2
C H C H  

3. Write notes on the following : 

(i) Nitrenes  

(ii) Benzyne  

fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

(i) ukbVªhu 

(ii) cSatkbu 

4. Explain in detail why cyclopentadienyl anion is 

aromatic while cyclo-octotetraene is not aromatic.  

foLrkj ls O;k[;k dhft, D;ksa lkbDyksisUVkMkbuk;y ,uk;u 

,sjkseSfVd gS tcfd lkbDyks&vkWDVksVsªVkbu ,sjkseSfVd ugha  

gSA 



 [ 5 ]  BSCCH–102/CH–02 

 (B-1) P. T. O. 

5. n-alkanes generally have higher boiling and melting 

points than corresponding branched chain alkanes. 

Why ?  

n-,Ydsu ds DoFkukad ,oa xyukad ik’oZ Ük`a[kyk ;qDr 

leko;oh dh vis{kk vf/kd D;ksa gksrs gSa \ 

6. How will you convert the following ? 

(i) 
6 5 2

C H C H C l  into 
6 5 2 2 5

C H C H O C H   

(ii) 
6 5

C H B r  into 
6 5 3

C H C H   

vki fuEufyf[kr dks fdl izdkj ifjofrZr djasxs \ 

(i) 
6 5 2

C H C H C l  dks 
6 5 2 2 5

C H C H O C H   

(ii) 
6 5

C H B r  dks 
6 5 3

C H C H   

7. Explain haloform reaction and its mechanism.  

gSyksQkWeZ fØ;k o bldh fØ;kfof/k le>kb,A  

8. Discuss the methods used for determination of 

configuration is geometrical isomers.  

T;kferh; leko;fo;ksa ds foU;kl Kkr djus dh fof/k;ksa dk 

o.kZu dhft,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. The ratio of  and  bonds in benzene is : 

(a) 2 (b) 3 

(c) 4 (d) 1 

cSathu esa   o   cU/kksa dk vuqikr gS % 

¼v½ 2 ¼c½ 3 

¼l½ 4 ¼n½ 1 

2. Cyclohexatriene is a conjugated triene. (True/False) 

lkbDyksgsDlkVªkbu ,d la;qfXer Vªkbu gSA ¼lR;@vlR;½ 

3. Cyclopentadiene ............. is aromatic.  

lkbDyksisUVkMkbZu 
-----------------

 ,jksesfVd gSA  

4. In Friedel-Craft‘s acylation the electrophile is : 

(a) +
3 3

(C H ) C   

(b) +
6 5

C H   

(c) 
3

A lC l   

(d) 
3

C H
   

ÝhMy&Øk¶V~l ,lk;yhdj.k fØ;k esa bysDVªksQkby gS % 

¼v½ +
3 3

(C H ) C  

¼c½ +
6 5

C H  

¼l½ 
3

A lC l  

¼n½ 
3

C H
  
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5. Mixture of concentrated nitric acid and concentrated 

hydrochloric acid is termed as nitrating mixture.  

     (True/False) 

lkUnz ukbfVªd vEy o lkUnz gkbMªksDyksfjd vEy ds feJ.k 

dks Nitrating mixture dgrs gSaA  ¼lR;@vlR;½ 

6. Which of the following contains three pairs of 

electrons ? 

(a) Carbocation  

(b) Carbanion  

(c) Free radicals  

(d) None of the above  

fuEufyf[kr esa ls fdl Lih’kht esa rhu bysDVªkWu ;qXe gksrs 

gSa \ 

¼v½ dkcksZdSVkbu 

¼c½ dkcZ,uk;u 

¼l½ eqDr ewyd  

¼n½ mi;qZDr esa ls dksbZ ugha  

7. A singlet carbene is ........... stable than a triplet 

carbene.  

,d flaXysV dkchZu] fVªiysV dkchZu ls 
--------------

 LFkk;h gSA  

8. To prevent oxidation of chloroform one of the 

following is added : 

(a) 3
C H C l  
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(b) 
2 5

C H O H   

(c) 
2 2

C H C l   

(d) 
3 3

C H C O C H   

DyksjksQkWeZ dk vkWDlhdj.k jksdus ds fy, fuEufyf[kr esa ls 

,d ;kSfxd feykrs gSa % 

¼v½ 
3

C H C l  

¼c½ 
2 5

C H O H  

¼l½ 
2 2

C H C l  

¼n½ 
3 3

C H C O C H  

9. The isomers which can be interconverted through 

rotation around a single bond are : 

(a) Conformers  

(b) Diastereomers  

(c) Enantiomers  

(d) Positional isomers  

leko;oh tksfd ,dy cU/k ds ?kw.kZu ds dkj.k gksrs gSa] o 

,d&nwljs esa ifjorZuh; gS % 

¼v½ la:i.k leko;oh 

¼c½ Mk;LVhfj;ksej  

¼l½ fcEc  

¼n½ izfrfcEc leko;oh 

10. Threo and erythro isomers are .............. to each other.  

Fkzhvks o ,fjFkzks leko;oh ,d&nwljs ds 
------------------

 gSaA 
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